

$$\log_n m = a$$

$$\log_{mn} m^n = b \Rightarrow \frac{\log_n m^n}{\log_n mn} = \frac{\log_n m^n + \cancel{\log_n n}}{\log_n m + \log_n n} = \frac{r \log_n m + 1}{\log_n m + 1} = b \Rightarrow \frac{ra+1}{a+1} = b \Rightarrow$$

$$1 + \frac{a}{a+1} = b \xRightarrow[\text{از دو طرف}]{\text{برکت}} \left[1 + \frac{a}{a+1}\right] = [b] \Rightarrow 1 + \left[\frac{a}{a+1}\right] = [b] \Rightarrow [b] = 1$$

$$\sqrt[n]{\frac{n}{\log \frac{n}{\frac{1}{r}}}} \xrightarrow{n \rightarrow \infty} I \quad \frac{n}{\log \frac{n}{\frac{1}{r}}} > 0 \quad \frac{0}{-\frac{1}{r} + \frac{1}{r}} \quad n \in (0, 1) \cap \mathbb{I} \Rightarrow \rho_f = (0, 1) \cap \mathbb{I}$$

$$\log \frac{n}{\frac{1}{r}} = 0 \Rightarrow n = 1$$

$$y = \frac{\log_r (n^r - n - r)}{\sqrt{n^r - 1} + 1} \Rightarrow n^r - n - r > 0 \Rightarrow (n-r)(n+1) > 0 \Rightarrow \frac{-r}{+r} < \frac{r}{-r} \Rightarrow n \in (-\infty, -1) \cup (r, +\infty) \cap \mathbb{I}$$

$$\sqrt{n^r - 1} + 1 \neq 0 \Rightarrow \sqrt{n^r - 1} \neq -1 \quad \text{جواب برقرار} \quad \sqrt{n^r - 1} = 0 \Rightarrow n^r - 1 = 0 \Rightarrow n^r = 1 \Rightarrow n \in (-\infty, -1) \cup (1, +\infty) \cap \mathbb{I}$$

$$\Rightarrow \rho_f = (-\infty, -1) \cup (r, +\infty) \cap \mathbb{I}$$

$$r \log_n a + \log_a \sqrt{n} = r \xrightarrow{n=9} \underbrace{r \log_n a}_{\log_n a} + \log_a \sqrt{n} = r \Rightarrow \log_n a + \log_a \sqrt{n} = r \Rightarrow \frac{1}{\log_a n} + \log_a \sqrt{n} = r \Rightarrow \log_a \sqrt{n} = r - \log_a n = A$$

$$\frac{1}{A} + A = r \Rightarrow \frac{A^r + A}{A} = r \Rightarrow A^r - A = 0 \Rightarrow A(A^{r-1} - 1) = 0 \Rightarrow A = 0 \rightarrow \log_a \sqrt{n} = 0 \quad \text{غیر ممکن}$$

$$A = 1 \Rightarrow \log_a \sqrt{n} = 1 \Rightarrow \sqrt{n} = a \Rightarrow n = a^2$$

$$\log_3 3 = 0, 1, 3$$

$$\log_3 3 = 0, 1, 3$$

$$(\log_3 \frac{1}{3}) n^r + (\log_3 9) n - \log_3 15 = 0 \Rightarrow \log_3 \frac{1}{3} = \log_3 15 - \log_3 n^r = \log_3 \frac{15}{n^r} = 0, 1, 3 \Rightarrow \frac{15}{n^r} = 1, 3, 9 \Rightarrow n^r = \frac{15}{1, 3, 9} = 15, 5, \frac{5}{3}$$

$$\log_r r = a$$

-9

$$\log_r b = \frac{r}{r}(1+a) \Rightarrow \log_r b = \frac{r}{r}(1+a) \Rightarrow \log_r b = \frac{r}{r}(1+a) \Rightarrow \log_r b = r(1+a) \Rightarrow$$

$$\log_r b = \underbrace{r}_{\log_r r} + r \log_r r \Rightarrow \log_r b = \log_r r + \log_r r \Rightarrow \log_r b = \log_r r^2 \Rightarrow b = r^2$$

$$\log(r^2 - 1) = \log(100 - 1) = \log 100 = 2$$

$$\frac{1}{s} = -\frac{a}{b} \Rightarrow \frac{r_a}{b} = \log r \Rightarrow \frac{r_a}{b} = \log r \Rightarrow \frac{r_a}{b} = \log r \Rightarrow \frac{a}{b} = \frac{\log r}{r} \quad (1)$$

-10

$$\frac{b+c}{r} = a \Rightarrow c = ra - b$$

$$\frac{c}{a} = \frac{ra-b}{a} = r - \frac{b}{a} \stackrel{(1)}{\Rightarrow} r - \frac{r}{\log r} = r \left(1 - \frac{1}{\log r}\right) = r - r \log_r 10$$

$$\left(\frac{1}{r}\right)^{r - \log_r 10} \Rightarrow \left(r^{-\frac{1}{r}}\right)^{r - \log_r 10} = \left(r^{-\frac{1}{r}}\right)^{r(1 - \log_r 10)} = r^{-\frac{1}{r}(1 - \log_r 10)} =$$

$$r^{-\frac{1}{r}(\log_r r - \log_r 10)} = r^{-\frac{1}{r}(\log_r 10)} = r^{(\log_r \frac{10}{r})} = r^{(\frac{1}{r} \log_r 10)} = \omega^{\left(\frac{1}{r} \log_r 10\right)}$$

$$\omega^{\frac{1}{r}} = \sqrt[r]{\omega}$$